CODE : 9078 (SET-A) SOLUTION : DANGAL#06 DANGAL TEST SERIES
SIKAR 1

for NEET-2025
: V, -V, = RR; —RR, Vv i=%=%A :|2=%x%=%
: (R, +R,)(Ry +R,)
[600—200] V=4£5x3oo:4ov
=| ——F———|x15=4volt
(30)(50) of
8 Vy=—Ft=V,xE

Solve by symmetry m
3. LetR,is the effective resistance between a and 6

b. The equivalent circuit is 9. E=E+E,=6V=>R,=6Q =i= 6 1A

1

RR R2 +2RR Current through GQ=§A
R,=R+——-=>R =——°%

NOW, Bao = iR, ¢ R4R,

J§+1]R
2

10. 2V i 2Q o 4Q 5V

2 2
=R2-RR, -R :O:Re=|i

R, = {‘/E”]D 235 = [*/52”}[2.235—1] =
=E
_ [\/§2+1][\/g_1} zgz 20 Apply KV.L in POQ
20-2i-4(i-i,)=5
4 RAB=¥ 6i—4i, =15

Apply K.V.L in POE

5. Ohm's law is TRUE, when the resistivity of the o o
20-2i-2i,=0 = 1+, =10

material is independent of the applied electric

field. On solving (i) and (ii)
= 45A
y J M. No current flows via capacitor
6. Mobility, p=—2="€ _~ _const. =
YR J  ne VeV
G V - Er, q_ _ CEr,
S, T C T 4
i —
4 ) . A
. ooV 23000 (V)600Q 2 Y
100 R
AAAA

. E
~ V=E-in=0=1="
Req = 500 1
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\ DANGAL TesT SERIES

CODE : 9078 (SET-A)

E SOLUTION : DANGAL#06
(s:u(A:: for NEET-2025 DATE : 22 March, 2025
i = 2k —E But |, =1Ix =z|:>|2=|>< 2 =1|
R+r+r, 1 2+4 3 2+4 3

14.

16

17.

18.

R+r1+r2 =2 = R=r1—r2

AMA . ALA
wy - wy

40 L 8Q

Power consumed by 8? resistance is 8 W
P=(,)’x8=8
L=1A

For parallel circuits I,(2 + 4) = 1,(4 + 8)

,=1 xE—1><2—2A
2 2 6

Now current through 2Q resistance is 2 A
P,=()°xR=(2°x(2) =8 W

20
31
i= . 20
1= =01
?+60 = " 200

Aluminium is conductor and its resistivity
increases with temperature but semiconductor Si
has negative coefficient of resistivity. So as
temperature increases, its resistivity decreases.

l;
S
re

AWV
20 /
iy L A
/ 3Q
| 5 ms
L 40
Heat in 20 resistor H, =(|1)2><2><t
. . 2
Heatin 40 resistor H, =(I,) x4xt
Heat in 30y resistor H, = (1) x3xt

19.

20.

21.

22

2 2
H1 :H2 :H3 ::(%I] x2xt:(%l}

xAxt:()?x3xt

'3 = H;:H,:H;:8:4:27

2
=1000 >0 =1000x 1 =625W
200 16

Original connectedresistance

Required shunt =
(Range—1)

lo  (NG=R

N

""

y (=1,

S

(-14)S =1,G = (nl-1;)S =1, R
R
(n—I)IgS= ng R= S=m

v —
v
®)

|ng=(|—|g)xS

011x99=(09)IxS
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CODE : 9078 (SET-A) DANGAL TEsT SERIES
SOLUTION : DANGAL#06
for NEET-2025 | f.mf
10V o
I )
271 2 2
RE | 220 (2 +v?)
23.
I YA
50V
10 50 1. X)) Bsind
Fori=0 => —=— 7 x 3,
2 R *F y‘e ;
I b Deosh
24, a~Um = m U |
31.  Lorentzforce
| | o
I—>5:>I—>E F=qE+q(v><B)
25.  Direction of magnetic force remains perpendicular F =0, If particle was unaccelerated.

26.

27.

28.

29.

30.

to direction of velocity so no work is done on
charge particle.

1 NIR?
2(R2 + X2)3/2 _1
BN =
2R

Net force on current carrying loop in uniform
magnetic field is zero.

h
Same ? same momentum. [7“ = Ej
mv 1
r=— — roc—
gB q
rp:rasi:l:qu=2qp=2 1
q, 9,
T=MxB= 50|>{05I+3jj—150kNm
r=+x*+y? = B=Bsin0i —Bcosoj
M0| ys X2 Mol S on
=—|=i-= = i —X
o111 i

32

33.

34.

35.

36.

Hol(1 1 Hol(b-a
B=B,-B,="%|-——| . B=-2
T2 24(a bJ = 24(abJ

V2Km

Radius of path r=? = rodm

Radius of proton path > Radius of electron path

curvature o« -
Radius

F. =1/xB = IE(Ijx’i\+21j\x’j\+2’jx|2)Bo
(B, (—k +2i) =/5I/B,
AY

!

§ §
H 0
= *
,.
.
*,

“ol" _
Hols  Holp 181
"R 2\/_R

V = constan
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ANE O
() DANGAL TEST SERIES

CODE : 9078 (SET-A)

lg 3@; g{for NEET-2025 SOLUTION : DANGAL#06

t = &QqE=q(VxB) = &E LB QEX? QEX? Ex?
37 2nr=L = M=IA _|xmup 4. Tome Y 4(qv):y:W

2

=Ixnx|:i} :|% n B=2[:—Ti(sin45°+sin90°)}
38. B,=B :HLL:“LE 3.ii:i=l 4 =M_°I=“°_qf=w

L A b o 2 ' 2R 2R 47R
39. Force acting on conductor is like

a4, Bomr=E 0/2 :“Llr2 Kl
R 2nR*  8m
I I T T . m 1 27mm K, m 1
So, it will turn clockwise. 45. f=m_2=5 B gB } = E_m_z_i
Answer-Key
1. 4 2. 4 3. 3 4, 4 5. 4 6. 4 7. 3 8. 4 9. 1 10. 1
n. 2 12. 3 13. 1 14. 15. 4 16. 1 7. 1 18. 2 19. 4 20. 1
21. 2 22, 2 23, 1 24, 1 25. 4 26. 3 27. 3 28. 4 29, 2 30. 1
31. 2 32, 2 33. 2 34. 1 35. 3 36. 2 37. 4 38. 4 39. 2 40. 2
M. 1 42. 2 43. 3 44, 3 45, 2 46. 1 47. 3 48. 2 49. 4 50. 3
5. 3 52, 4 53. 4 54, 1 55. 4 56. 1 57. 3 58. 4 59. 1 60. 2
61. 62. 3 63. 3 64. 4 65. 1 66. 4 67. 3 68. 2 69. 4 70. 2
n. 4 72. 2 73. 1 74. 2 75. 4 76. 2 77. 1 78. 2 79. 4 80. 3
81. 1 82. 3 83 4 84. 4 85 1 86. 4 87. 1 88. 1 89. 3 90. 4
91. 2 92. 2 93. 2 94. 1 95. 3 96. 3 97. 2 98. 2 99. 3 100. 2
101. 1 102. 2 103. 3 104. 3 105. 2 106. 2 107. 3 108. 4 109. 2 1M0. 3
m. 2 1M2. 2 13. 4 1m4. 3 15. 1 1M6. 3 17. 4 18. 2 19. 3 120. 2
121. 1 122. 3 123. 4 124. 2 125. 4 126. 3 127. 4 128. 3 129. 4 130. 3
131. 3 132. 2 133. 4 134. 3 135. 4 136. 3 137. 3 138. 3 139. 2 140. 2
141. 3 142, 3 143. 3 144. 2 145. 4 146. 1 147. 3 148. 1 149. 4 150. 1
151. 3 152. 2 153. 3 154. 2 155. 3 156. 2 157. 3 158. 3 159. 1 160. 1
161. 3 162. 3 163. 1 164. 1 165. 1 166. 1 167. 2 168. 2 169. 1 170. 4
7. 2 172. 3 173. 2 174. 1 175. 1 176. 2 177. 2 178. 3 179. 1 180. 3
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CODE : 9079 (SET-B)

DATE : 22 March, 2025
1 20V i 20 o 4Q 5V

s
==

Apply KV.L in POQ
20-2i-4(i-i)=5

6i—4i, =15

Apply K.V.L in POE
20-2i-2i,=0 = i+i,=10
On solving (i) and (ii)

i,=4.5A
2 No current flows via capacitor
Vc = Vr2
Er CEr.
V =2 g: — 2
<o+, =T Ve =9 [+,
E E
r r
3 i
E . 2E E

— _ir — i:—, |l=—m78M =

V=g-in=0= L’ R+r+r, 1
R+r+r,=2rr = R=r-r,

4.  Aluminium is conductor and its resistivity

increases with temperature but semiconductor Si

has negative coefficient of resistivity. So as

temperature increases, its resistivity decreases.
/;
>—A\WWV

2Q /
~>— —AA—-
5. / <)

—AWWW
L 40

Heat in Q) resistor H, = (I1)2 x2xt

SOLUTION : DANGAL#06

10.

WNE ®
DANGAL ST SERIES
for NEET=-2025 \ytmey
1 Ny 96 ® 1

. . 2
Heat in 40 resistor H, =(I,) x4xt

Heatin 30y resistor H, =(I)? x3xt

4 2 2 1
2+4 3

2 2
H1 :H2 :H3 ::(%I] x2xt:(%l}

xdxt:()® x3xt

But I1=I><

8 4
H11H21H3ii§i513 = H,:H,:H;:8:4:27

. neA
I=neAv=——-v, = v =4v
4 1

Let R, is the effective resistance between a and
b. The equivalent circuit is

R% +2RR
R, =R+—-=>R =——¢
NOWI ab e R+Re

R+R

e

—R2-RR,-R2=0=R :{\EH]R
2

e

R, = {*/5”1[1.235] - [£2+1}[2.235—1]

2

:[Jg”l[\/g—q:%:m

_R

R
AB T,

Ohm's law is TRUE, when the resistivity of the
material is independent of the applied electric
field.
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) DANGAL 7esT SERIES CODE : 9079 (SET-B)
g B SOLUTION : DANGAL#06 .
; EH‘J\E “" for NEET-2025 DATE : 22 March, 2025
1.  Direction of magnetic force remains perpendicular |
. . . . - = — = “ol’f H0| ~ é _ Mo
to direction of velocity so no work is done on B=B,+B,;B=—"j+—k = IB|=
4R° 4R 2JR

2.

13.

14.

15.

16.

17.

18.

19.

charge particle.

1, NIR?
2(R2 )" _1
u Nl 8 = =R
2R
Lorentz force

?=qE+q(\7x§)

F =0, if particle was unaccelerated.

Hoi(1 1 Hol(b—-a
B=B,-B,=-%|-——| ,B="-%|—°=
T 24(a b] = 24(ab]

V2Km
Radius of path I = T T« Jm

Radius of proton path > Radius of electron path

curvature <«

Radius
Holh _Holy _ 0 L 1
= = > — = — = —
Bi=B, = " i, o 2

Force acting on conductor is like

BE

So, it will turn clockwise.

gEx? gEx’ Ex?
2mv> 4(qv) 4V
AY
/

o
R
o
e
ol .....'-'

20.

21.

22

23.

25.

26.

27.

28.

V = constan
t = &QgE=q(VxB) = &E LB
2nr=L = M=1A =|x 7r?

=lxnx|—| =]—
2n 4

|
B:Z{MO

- (sin45° + sin90°)}

_ Bl paf  po
2R 2R 47R

Net force on current carrying loop in uniform
magnetic field is zero.

h
Same ? same momentum. [7“ = Pj

mv 1
r=——- roc—
gB q
rp:ruzi:l:qq:qu:Z 1
9 9.

!

T =Mx :50i><(0.5i+3jjz150kNm
r=+x*+y? = B=Bsin0i —Bcosoj

Sullrixg] ey

r r 2mr
TN (yi _Xj)
e A
. (XY) Bsino
4 x\xl.-'
{:’,-" Y. 9 B
A0 Bcosb 5> X

X

74
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CODE : 9079 (SET-B) SOLUTION : DANGAL#06 DANGAL TEST SERIES
SIKAR 1

DATE : 22 March, 2025 for NEET-2025
2
HEAY P =P [Vz}z 3, Bamr= o/
2. — =\ =>K=FR ’ R2
p ) =0
i :p_ol
2
1000 22 | - 1000><i=62.5w 2nR° 8m
200 16
T m 1 2tm K, m, 1
Original connectedresistance 35 T m 2 “T= qgB = fzm_zi
30. Required shunt = 9 2 2 2 2
(Range—1)
R N 26 7 46
y{=1y 37.
@ 40 L 80
A
v
S Power consumed by 8? resistance is 8 W
P=()’*x8=8
(I-15)S=14G = (nlg-ly)S =13 R o L=1A
R For parallel circuits I,(2 + 4) = 1,(4 + 8)
(n-)I_S=1 xR=S=——r
o0 n—1 12
L=1x —=1x2=2A
U 22 6
i >1OOKG\ = Now current through 2Q resistanceis 2 A
~ P,=()*xR=(2?x(2) =8 W
31
yli—1
- ‘v‘v‘v‘vs QX‘I
=3 20
I XG=|—| XS 39 = O’I
xe=(-1) 29,60 200
0.1x99 =(09)1xS
| 10V J
I Vi _ne_o©
_ 40. Mobility, p=—<%=-%=—=const
R= | =20 E J ne
32 6
)
50V 2000 2
YYVY - »
10 50 K
Fori=0 = —=— .
2 R g 00V 23000 (6000
33. Fm=IZ><L5>Slﬁ(jx’i\+21j\x’j\+2’j\x|2)80 ' 1000
N ~ V"“""
I(B, (—k +2i) =/5I/B,
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‘) DANGAL 75T SERIES CODE : 9079 (SET-B)
H = SOLUTION : DANGAL#06
5 f"!;f . for NEET-2025 DATE : 22 March, 2025
Req = 500 :
Current through 6Q2=—A
. 100 1 1 600 6 3
|l=——=— :|2:—x—:—
500 5 5900 45

RR, —RR, ]v

V-V, =
V=4£5><3OO=4OV Moo [(R1+Rz)(R3+R4)

4. V= _:ET = V, ocE =[%}x15=4volt
B EZE+E, -6V o Req 60 i=%:1A 45,  Solve by symmetry
Answer-Key
1. 1 2. 2 3. 3 4. 1 5. 2 6. 4 7. 3 8. 4 9. 4 10. 1
n. 4 12. 3 13. 2 14. 2 15. 2 16. 4 7. 2 18. 2 19. 3 20. 2
2. 4 22, 1 23. 2 24, 3 25. 3 26. 4 27. 2 28. 1 29, 1 30. 2
31. 2 32, 1 33. 1 34, 3 35. 2 36. 1 37. 2 38. 4 39. 1 40. 4
M. 3 42, 4 43, 1 44, 4 45, 4 46. 4 47. 1 48. 4 49, 3 50. 4
51. 1 52. 2 53. 4 54, 2 55. 1 56. 3 57. 1 58. 3 59. 4 60. 1
61 1 62. 4 63. 4 64. 1 65. 1 66. 2 67. 4 68. 4 69. 3 70. 2
n. 3 72. 4 73. 1 74. 3 75. 3 76. 4 77. 2 78. 1 79. 3 80. 3
8. 4 82. 2 83. 4 84. 2 85. 4 86. 1 87. 1 88. 3 89. 2 90. 4
91. 2 92. 1 93. 2 94. 2 95. 3 96. 4 97. 2 98. 4 99. 3 100. 2
101. 3 102. 2 103. 4 104. 3 105. 4 106. 4 107. 3 108. 4 109. 1 110. 3
m. 3 1M2. 2 1m3. 2 1m4. 2 15. 2 16. 4 17. 3 18. 3 19. 3 120. 2
121. 1 122. 3 123. 4 124. 1 125. 3 126. 4 127. 2 128. 3 129. 2 130. 3
131. 3 132. 2 133. 2 134. 2 135. 3 136. 1 137. 3 138. 1 139. 3 140. 2
141. 3 142. 1 143. 1 144. 1 145. 2 146. 1 147. 1 148. 2 149. 2 150. 3
151. 2 152. 3 153. 2 154. 3 155. 3 156. 1 157. 4 158. 2 159. 3 160. 3
161. 1 162. 3 163. 2 164. 2 165. 2 166. 2 167. 1 168. 3 169. 1 170. 1
7. 4 172. 1 173. 3 174. 3 175. 3 176. 2 177. 4 178. 3 179. 3 180. 3
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